Item No.: 941.32.007/009

Mounting Instructions

HAFELE

FLAT TRACK SLIDING SYSTEM WITH
TOP-MOUNTED HANGER - MODEL #BD110

2000 mm (78 3/4”)

. 450 mm | 450 mm | 450 mm | 450 mm
1 (17 11/16”) |, (17 11/16”) | (17 11/16”) | (17 11/16”) |
|

| @ |

|
|
|
|
|
|
[ e~ e e T |2 e

(x1)

emmm(§i)
M8x60 (x 5)

(D ) (G

M8x30 (x5)

(@@
ST4.2x25 (x2) M6X35(X4

5
26( x 2) M8x120(x5) ﬁ

—~
x
a

~

18|

1254 mm (1)
‘ . -
|
|
| |
L»uclcllllil ll';d !
—~ in the field ‘
© |
S I
- |
z |
£ |
£  H
? |
+ |
I |
|
|
10 mm :
8/8)
= =
For masonry installation
TR
— € F_ € F_ £
o o o
I Q =~ Q = uv,
[ — —_— =
— R i
} ¥
L_—\-lﬂl.ﬂllllillc(‘lI
in the field

H + 43 mm (1 11/16”)

For drywall installation with

support structure ~ — — —
£ £ EL gD
ST gF gf gr
w@": \3":\3":\3":\
— — = = = =
— e e S
| 7]
l_»uclﬂllllilmj .
in the field o
1S ]
| somm-—==—
=| (31/80) @55 mm
£ 7/32”
[
<
+
T
L

For drywall installation with
support structure 6
(




o )
] o | [o ° ]

Thickness
45 mm (1 3/4”)

Thickness
35 mm (1 3/8”)

& A&
| _-7_£—
1o~ & A

38| | 19
r1=3 4
IIAAA

8

HAFELE

3901 Cheyenne Drive ® P.O. Box 4000 e Archdale, NC 27263
1-800-423-3531 e www.hafele.com/us



